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Math Scoring Worksheet
A. Section 3
numer of correct number of incorrect
+ +
B. Section 5 (1-8)
numer of corvect number of incorrect
+
C. Section 5 (9-18) -
numer of carrect
+ +
D. Section 7
: numer of corvect number of incorrect
E. Total Unrounded Raw Score — 4=
numer af correct niumber of incorrect
F. Total Rounded Raw Score e ( Seetable)
Math Score Range = —




Math Conversion Table

Raw Score Scaled Score Raw Score Scaled Score
54 800 23 490-550
53 780-800 22 480-540
52 760-800 21 470-530
51 740-800 20 460-520
50 720-780 19 450-510
49 700-760 18 450-510
48 690-750 17 440-500
47 680-740 16 430-490
46 670-730 15 420-480
45 660-720 14 420-480
44 650-710 13 410-470
43 650-710 12 400-460
42 640-700 11 390-450
41 630-690 10 380-440
40 620-680 9 390-430
39 610-670 8 380-420
38 610-670 7 370-410
37 600-660 ) 360-400
36 590-650 5 340-3380
35 580-640 4 320-370
34 570-630 3 310-360
33 560-620 2 300-350
32 560-620 1 270-320
31 550610 0 240-300
30 540-600 -1 200-290
29 530-590 -2 200-270
28 530-590 -3 200-260
27 520-580 -4 200-240
26 510-570 -5 200-220
25 500-560 -6 and below 200
24 500-560




SECTION 3

Time- 25 minutes
20 Questions

Tum to Section 3 (Page 1) of your answer sheet to answer the questions in this section.

Directions: For this section, solve each problem and decide which is the best of the choices given. Fill in the corresponding
circle on the answer sheet. You may use ary available space for scratchwork.

( 1. The use of a calculator is permifted.
2. All numbers used are real numbers.
el 3 Figures that accompany problems in this test are intended to provide information useful in solving the problems.
=} They are drawn as accurately as possible EXCEPT when it is stated in a specific problem that the figure is not
“ drawn to scale. All figure lic in a plane unless other indicated.
4, Unless ofherwise specificd, the domain of any function f is assumed to be set of all real umbers x for which
F(x) isareal number.
g £ T ¢ 23 sv2
& w/ | i hb X s
: W ; :
S 2 f]’ é a X\E s
LBl =7 4_pe 4=l yomn vemtn F=di4B Special Right Triangles
§ C=2xr 2
&| The numbers of degrees of arc in a circle is 360°. B
E The sum of the measures in degrees of the angles is 180°.
o
1. If 3(a+2b—c) =12, whatis the value of XYy
a+2bh intermsof ¢? +YX
88
(A} 3c-4
BYc-12 2. Inthe addition problem above, X and Y are
(C)c-4 distinct positive integers. How many different
(D) 4+c integer values of X are possible?
(B) 12—c¢

@4 B)s Q6 M7 ®S

GO ON TO THE NEXT PAGE )




3. A clever integer is defined as an integer that is
greater than 20, less than 100, and such that the
sum of its digits is 9. What fraction of all clever
integers is divisible by 277

o~ ~
g8 38 &8 2
GOl po| = COjL B o0]—

&

4. If 8" x4* =2", what is the valuc of 5 ?

(A)2
(®)3
©)4
D)5
(E)6

5. Inthe figurc above, a playcr spins the arrow twice,

Let the number of the first spin be p where the

arrow stops, and the number of the second spin be
g where the arrow stops. If each number has an

equal probability of being the sector on which the
atrow stops, what is the probability that the

fraction £ is greater than or equal to 1?7
q
1
A) —
(AY 7
3
(B) T

© -]%

If n=4p’g,where p and g are distinct prime
numbers, and not equal to 2, how many factors
does the number # have?

(A) 20
(B) 18
(©) 16
D)4
(E) 12

| GO ON TO THE NEXT PAGE )
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Note: Figure not drawn to scale. '

9,

On a farm, the ratio of cows to goals is 1:2 and the
ratio of goats (o pigs is 4:5. What is the ratio of
cows to pigs?

(A) 1:2
(B) 1:4
(©)2:5
D) 1:6
€ 27

7. Inthe figure, the angles a,b, and ¢ represent
exterior angles of the triangle. What is the value
of a+b+c?

(A) 180
(B)240
{C)300
(D) 360
(E) 540
¥y y
A Fy
y=Jx)
y=g(x)
0 ™ X O v » X
P(2,-1)
I I
8. Thegraphsof f and g are shown above. If the

equation in figure Lis y = x*, which of the
following could be the equation of g in figure 117

A) gy =x"-2

(B) g(x) = (x+2)* +1
(©) glx)y=(x-2)"~1
M) g(x) = (x+2)* -1
(B) g(x}=x" —2x-1

10.

The area of asector is directly proportional to the
square of the radius. When the value of the radius
is 4, the area is 20. If the area is 45, what is the
value of the radius? )

A4
B)6
©)8
(D) 10
(E) i2

GO ON TO THE NEXT PAGE>
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11. Ifthe figurc above shows a regular pentagon and

a regular hexagon with a common side QW ,
what is the valuc of ZPOR?

(A) 12°
(B) 20°
© 22
D) 24°
(E) 30°

12.

Cathy can do a jeb in 8 hours while Danny can do
the same job in 6 hours. If Cathy and Danny work
three hours, what fraction of the job is left o be
finished?

t
m\
\ > x
0 AN

13. The figure above shows the graph of

ax + by + ¢ = 0. Which of the following could be
true?

L 250
b
II. ~C—>0
b
M. E<0
b
(A) Ionly

(B) Tonly

(C) I only
(D) Tand I only

(E) 1and ITT only

14.

If X is the set of multiples of 5, and Y is the set
of three-digit posilive integers which are multiples
of 7, how many numbers are¢ common to both
sets?

(A) Five

(B) Twenty
(C) Twenty five
(D) Twenty six
(E) Thirty

GO ON TO THE NEXT PAGE>
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15.

Whatis p percentof g divided by ¢ percentof
p?

A1
(B) pg
oL
q
oL
P

100
rq

®)

16.

In a plane, the distance between points X and ¥
is 10, the distance between points X and p is3,
and the distance between points Y and ¢ is 4.
Which of the following CANNOT be the length

of pg?

(A)2
B)3
(C) 10
)15
(B)17

A D

17, The figure above shows two isosceles right

friangles. If'the length of BC is 2g, whatis the
perimeter of the quadrilateral ABCD in terms of
a?

(A) 2a+4af2
B) 3a-+av?
(C) 4a+4av2

(D) 4a+a3
(E} 5a

18. If x is the coordinate of the indicated point on the
number line above, which of the following points

represents the coordinate of gl ?

(A4
(B)B
Oc
(22
EYE

GO ON TO THE NEXT PAGE>
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ol "1 2 3 4 5
19. ‘The figuwe above shows the graphs of the

functions £ and g . I f{g(x)) =4, whatis the

value of x 7

M1
(B)2
©)3
(D)4
®5

STOP

The Maxim Telephone Company charges &
cents for the first # minutes of a call and charges
for any additional time at the rate of # cents per
minute. If a certain customer pays $10, which of
the following could be the length of that phone
call in minutes?

A) 1000+k
F

® 2%
»
1000 — k¢
F
1000k
"

1000+ k&

©

+1

(D)

+kt

(E)

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test.




SECTION 5

Time- 25 minutes
18 Questions

Tum to Section 5 (Page 1) of your answer sheet to answer the questions in this section.

Directions: For this scetion, solve each problem and decide which is the best of the choices given. Fill in the corresponding
circle on the answer sheet. You may use any available space for scratchwork.

\

Notes

1. The use of a calculator is permitted.

2. All numbers used are real numbers.

3. Figures that accompany problems in this test are intended to provide information useful in solving the problems,
They are drawn as accurately as possible EXCEPT when it is stated in a specific problem that the figure is not
drawn to scale. All figure lic in a plane unless other indicated.

4, Unless otherwise specified, the domain of any function f is assumed to be set of all real numbers x for which

J(x) isareal number.

{Reference Informatiom

AN S 29

2
A=m" 4w A= -l-bh V =twh V=mr’h I =d+b Spe(‘,ial Right Triangles
C=2zmr 2

The numbers of degrees of atc in a circle is 360°,
The sum of the measures in degrees of the angles is 180°,

-
.

If4(x+y)-2(x+y) =12, then x+ y = /
(A) 2 x 2x°

(B) 4 0
C)o6
(D) 8
(E)10

Note: Figure not drawn to scale

2. In the figure above, three lines interscctat a
point, If y = 2x—30, what is the value of x ?

(A) 30
(B) 37
(C) 42
(D) 50
(E) 60

| GO ON TO THE NEXT PAGE )




K

If Sally drives m miles from her house to her
office in f hours, and drives back to her house
in g hours, what is her average speed of the
entire trip, in miles per hour?

frg
2
m
S+g
2m
f+g
Je
D) Trg
2k
f+g

(&)
(B)

©)

(E)

If a+b is an odd integer, which of the
following must be an even integer?

(A) a
®) b
) ab
D) ab+1
(E} ab+a

P(m,n)

ARS

5. TInthe xy— coordinate plane, line £ is parallel to
x—axis , and the points 4{-2,1) and B{4,1)
lie on a circle. If AB (not drawn) is the diameter
of the circle, what are the coordinates of point
P7
(A) 2,4
®) (1,4
© 1,3
™ (L,5)

B a5
6. Morgan took five tests last quarter. If the

average of the first three tests was p and the
average of the rest of the tests was g , what was
his average in the quarter?

(A) p+q

® 71
© £t
o) 22224
® %

GO ON TO THE NEXT PAGé>




7.

The graph of y = f(x) is shown above. Which
of the following could be the graph of
y=—f(x+1)?

(A) ¥y
F 3
o) > x
y
B) A
O > x
y
© 2
- 0 > x
y
D) +

) ¥

T
>

8. TForall numbers aand b, let a @b be defined

as a ®b={a+b)’ —(a—b)*. Which of the
following is not the same as the value of
Bol)2?

(A) 406
®) 368
(©) 2612
D) 124
(B) 3312

GO ON TO THE NEXT PAC§>




Directions: For Students-Produced Response questions 9-18, use the grid at the bottom of the answer shect

/ page on which you have answered questions 1-8.

3\

Each of the remaining 10 questions requires you o solve the problem and enter your answer by making the circles
in the special grid, as shown in the examples below. You may use any available space for scrafchwork.

Answer: 2.5

Answer: 201
Either position is correct.

0[1]12]011

Write answer—pm
in boxes. r 4— Fraction
line
0
4
(2)
Grid in—p
result,

,f
EROEKEE

» Mark no more than one circle in any column.

@ Because the answer sheet will be machine-
scored, you will receive credit only if the circles
are filled in correctly.

o Although not required, it is suggested that you
write your answer in the boxes at the top of the
columns to help you fill in the circles accurately.

» Some problems may have more than one correct
answer. In such cases, grid only one answer.

» No question has a negaltive answer.
o Mixed numbers such as 3% must be gridded as
3500 72.(If [3]1]/ | 2'| is gridded, it will be

&=

31 1
interpreted as — , not 3— .
1p 5 5 )

.
N

2
@, @,
+4— Decimal Q@ 2 @ Q‘ O
point (0) 0
(D
(3)
(4)

=y (]

1

1 1
2X(2 D€
DY N0
D) (N4

(D
@
(3)
Note; You may start your answers
in any column, space permitting,

Columns not necded should be left
blank.

o
0
1
2
3
4

)

¢ Decimal Answers: If you obtain a decimal answer
with more digits than the grid can accommodate,
it may be either rounded or truncated, but it must
fill the entire grid, For example, if you obtain
an answer such as 0.6666. .., you should record
your result as .666 or .667. A less accurate value
such as .66 or .67 will be scored as incorrect.

.2
Acceptable ways to grid 3 are:

Peter can finish a task in 8 hours, and Sam can
finish the same task twice as fast as Peter. If they
work together, how many hours would it take to
complete the task?

10, Since the beginning of 2002, the number of

students in Spring Lake high school has doubled
every 3-yeat period. If there were 800 students

in the school at the beginning of 2002, how

many students arc in the school at the beginning

of 2008?

[GO ON TO THE NEXT PAGE




A C
Note: Figure not drawn fo scale.

11. Inthe figure of A ABC above, the area of
AABX is 20 and the area of AACKX is 6.

What is the value of BX ?
(9.4

13, Two marbles at a time are to be drawn out from
a jar that contains 5 red marbles and 8 black
marbles. What is the probability of drawing one
red and one black marble from the jar?

4={0,1,2,3} B={1,2,3,4}

12. If ais the element from set A, and b is the
clement from set B , how many distinct possible

a
values of E are there?

14. If |10 —~3xl < 5, what is one possible integer
value of x?

GO ON TO THE NEXT PA(E‘>




15. If the square of a positive number is same as the
number divided by 4, what is the value of the
number?

C

Note: The figurc not drawn to scale.

16. ‘The figure above shows an cquilateral triangle
ABC .1t M is the midpoint of AC,

BP is % of AB,and F’a is parallcl to R,
what fraction of the area of AABC is shaded?

x | f(x) i |gl)
1 7 0 12
3 13 1 14
5 i9 pl 16
a b a b
Table I Table II

17. Inthe tables above, the points (x, f) and (x,g)

represented in the tablcs lie on straight lines. If
the point (a,b) lics on both lines, what is the

valueof a+bh?

18. If x*+3* <25 and y >3, whatis the greatest
possible vatue of x ?

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test.




SECTION 7
Time- 20 minutes
16 Questions

Turm to Section 7 (Page 2) of your answer sheet to answer the questions in this section.

Directions: For this section, solve each problem and decide which is the best of the choices given. Fill in the corresponding
circle on the answer sheet. You may use any available space for scratchwork.

(~ 1. The use of a calculator is permitted.
2. All numbers used are real numbers.
w| 3.Figures that accompany problems in this test are intended to provide information useful in solving the problems.
% They are drawn as accurately as possible EXCEPT when it is stated in a specific problem that the figure is not
< drawn to scale. All figure lic in 2 plane untess other indicated.
4, Unless otherwise specified, the domain of any function f is assumed to be set of all real numbers x: for which
f(x) isarcal number. '
(
E :
8 w/ |k h b
N T
A8 A=E g A=—bh V =fwh V=nr't =d+¥ Spcc1al Right 'I‘nangles
el C=2xr 2
g The numbers of degrees of arc in a circle is 360° .
E The sum of the measures in degrees of the angles is 180°,
1. If 2k is a positive even integer, which of the 5={3, 6,12}
following MUST be even?
2. From the given above, how many different
A) Vi values can be created by forming fractions 2
(B) & b
© 2k such that a and b are distinct elements of the
D) 2k set 82
(B) k+1
(A) 2
B)3
©) 4
D) 5
(E) 6
GO ON TO THE NEXT PAGTE:>




I 3

1 1 1 1 ) 1 1 1

Aok e be b doadacdeidono

§ M
i o R N
85 sob--Pootododeodododod
O 8 R R
bt © 40F--r==t--—F--@--—g==a=--r-=-)
=] .ﬁ 1 1 ] 1 1 1 '
I ' ' 1 ' 1 1 |
I e S S
g ) 1 1 1 i 1 1 1
R S AR Heh e
A R U S SO O OO O
! ] § 1 1 ¥ | !

J ] ] 1 1 ]
1 2 3 4 5 6 7 8
year

3. The scatterplot above shows the number of
computers sold during 8 years of I.C Computer
Inc. Which of ihe following functions best
describe the relationship between # , the number

of year, and P(n) , the number of computers
sold per year (in thousands )?

(A) P(n)=060n

(B) P(n)=60-n
(C) P(n)=—2n+60
D) P(n)=60-4n
(B) P(m)=40

4. A circle and a triangle have equal areas. If the
radius of the circle, represented by £, is equal to
the base of the triangle, what is the altilude of the
triangle in terms of ¢ ?

t
A 5
B) 2=t

mt
© 5

5.

If y is directly proportional to x* , which of the

following could be the graph that shows the
relationship between x and y ?

(A) y
A
704’ X
B) y
{ x
© ’
A
.
b))
A
AOLD x
(E)
y
\J
-——U—P X

GO ON TO THE NEXT PAGE:>




6.

4 60°

Nete: Figure not drawn to scale.

In the figure above, ABCD is an isosccles
trapezotd. If the length of AD is 24 and the

length of BC is 16, what is the perimeter of the
{rapezoid?

(A) 40
(B) 56
(©) 40+442
(D) 40+6v2
(B) 40+8\2

7.

©

E
WM ol NN N = w—

(B)

8. Jimmy drove a car at a constant rate of speed to
a shopping mall, spent a while in the mall, and
returned home at a constant rate of speed. Which
of the following graphs could correctly represent
the distance from his house over time?

(A)

_A
.
A >
Time(hour)
®  _4
% _—\j
[ >
Time(hour)
© -4
2
1=}
a >
Time(hour)
(D) _A
:
g
4
R >
Time(hour)
(E) _A
.
A >
Time(hour)

GO ON TO THE NEXT PAG%>




9.

- 7

o h
2F

Note; Figure not drawn 1o scale.

In the figures above, the interior dimensions of 2
cylindrical tank full of water have radius r and
height 4. All of the water in the tank is poured
into a second tank. If the interior dimensions of
the second tank are 2r feet long and 7k feet
wide, what is the height of the water in the
second tank ?

(A)

G

N1§ by BIY =8 bf—

©

g

(E)

NUMBER OF EMPLOYEES

Men Women
Salary over $50,000 10 5
Salary $50,000 or less 40 35

11.

The table above shows the number of employces
at I K Computer Technology. If onc employec
will be picked at random, what is the probability
of picking a woman whosc salary is over
$50,000?

(A)

10.

If 2% =x+ 2", whatis the valuc of x ?

(A) 2
® 2°
© 3
®) 2
(E) 22[

12.

If 5+5 45 +5 +5 =5", where n isa
positive integer, what is the valuc of # ?

(8) 3
®) 4
©5
D) 6
(®) 7

GO ON TO THE NEXT PAGE>




Note: Figure not drawn fo scale.

13. Inthe figure above, 4B || MN || PQ ,
Eﬁ=1~\f§:@—é, and AB =6. Whatis the
area of the shaded region?

(A) 8
(8) 10
(C) 63
(D) 1243
() 1843

15. Forallnumbers a and &, let aAd be defined
as aAb = a® —b. What is the value of
(24A13 )A(3SA23 ) 9

(A) -17
(B) 17
(C) =55

(D) 55
(E) 70

)

A_'K C

4

16. In the figure above, a circle O is inscribed in
AABC If AB=3,AC =4, and the radius of

14, If l-!hl=t,and pg=w,then p+g=
p g

@) %

2|~

(B)
©) tw

w
D) 5

(B) t(t+w)

the circle is #, what is the value of # ?

(a) 1
®) 2

© V3

0))%

(B V3-1

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test.




TEST 2 ANSWER KEY
7 SECTION 3 SECTION 5 SECTION 7
1 D C D
2 C C C
3 C C D
4 A C B
5 E B D
6 B E B
7 D D D
8 C B B
9 C 2—, 2.66 or 2.67 C
10 B 3200 D
11 A % or 1.25 A
12 B 10 B
13 E 512 or.513 C
14 D 2,3, 0r4d C
15 A % or 0,25 D
16 A % or 222 A
17 A 36
18 C 4
19 A
20 D

TEST 2 SECTION 3

gn X42 — 210 = 23rx X24 - 23rz+4 = 2l0 It
follows that 3r+4 =10 . Therefore, n=2.

5 ®

Since £2>1 = p 2 q. The pairs of
q

1. O
Ha+2b-c)=12= a+2b—c=4.Thus,
a+2b=4+c.

2, (©)

The pairs of (X,Y)arc
1,7) (2,6) 3,5) (44 (5,3)(6,2) (7,1)

= 7 numbers

(p,4) will be as follows.

L) (21 (2,2 3,1 (3,2) 3,3) (4.1
(4.2) (43) (4.4

All possible outcomes arc

—
=

3. (O
The clever integers between 20 and 100 are
27, 36, 45, 54, 63, 72, 81, 90. The numbcrs
divisible by 27 are 27, 54, 81. Thus, the

fraction is —38—

l

4x4 =16 Therefore, P === ‘;‘ _

(=

6. (B)
n=4p’q =>n=2"p'q.
From prime factorization, the number of
factors can be obtained by multiplying the

4. (A)

exponents added by 1.
The number of factors
=Q2+1D2+D1+1)=18




10.

11,

Or,use p=3and ¢ =5.Then n=180. 13. (B)
The factors of 180 The slope is negative and y-inlercept is
-+ 1,2,3,4,5,6,9,10,12,15,18,20,30,45,60,90 s a
3eynty Tanlgtly My Ly Ly 1y 1 O oy SIS, VW S0 t_Th,___<0d
180. (18 factors) Postiive. ThS b an
7. ) ——C—>0:>%>Oand%<0,
The sum of exterior angles is always 360°,
Or, (180 —a)+(180-b}+(180—¢) =180, 14. (D)
Therefore, a-+b+c =360, Tt is mulliple of 35 from 100 to 999, Thus
999 |99
8. (C) [?;J—IEEJ—ZS—Q—Z&
Translate to the right by 2 and down by 1.
Therefore, g(x)= f(x—2)+1. 15. (A)
1t follows that p q
g(x)=(x-2 -1. [ﬁa"‘inﬁ"ﬁ"”]:‘
9. (©
< = 1 and 5 = 4 . Therefore, 16. (A)
G 2 P 5 P
C C G 1 4.2 m
—_— = — = — X — = — -
P G P 25 5§ il
® Ny
Since K :—ii— s —
F ‘ In the figure above, 3< pg <17,
20 45 2
— =— = r* =36.Therefore, r=6.
4 r 17. (A)
C
(A) 2a
LPOW 10 120 and
6 B 2a2
2
ARQW:S—:Q:IOS. 1N
Therefore, ZPOR = 120108 =12 y p
a2
12. (B) In the figure, the perimeter is 2a+4av? .
Cathy’s rate per hour:l and Danny’s rafe
8 18. (©)
1 Approximately x =-2.25,
per hour =—. The sum of the rates is « [-2.25
6 A== 045,
1.1 7 3
3 6 24 Therefore, point C best represents the
7 7 coordinate.
If they work 3 hours, — (3} = — of the job
247 8 19. (A)

will be done. é of the job is lefl to be

finished.

In the xy-plane,
Since f(k)=4 = k=g(x)=4 > x=1.




20. (D) 7. D
k cenls -> upto # minutes Translate to the left by 1 and reflection over
For the (1,000—k}cents — r cents per the x-axis.
minute 1000k 8. (B)
It follows that the minutes is . 301=03+1*-(3-1% =12 and
¥ _ 142102 _
Therefore, total length of the phone call is (BeHe2=1202=14"-10" =96.
1000k Or
PR a®@b=(a+b)* —(a—b)* =4ab
3G 1=4(3)(1) =12 and
TEST 2 SECTION 5 1202=4(12)(2) =96.
312 =4(3)(12) = 144 £ 96.
1. (©)
A(x+y)—2(x+y) = Ax+p)=2 > x+y=1. 9. 8 or 266, 2.67
2. Combined]
\ / Hours | Rate |5,
x° 2x°
p 1
AN Pefer 8 A y
1 8
Sam 4 | 4
In the figure above,
3x+y =180 = 3x+(2x30) =180. 3 8
Tt follows that In the figure above, l+§ = Ehours.
S5x=210=>x=42.
. © 10. 3200
_ Entire distance  2Zm 800 - 1600 — 3200 , increased every 3
Average speed= — = .
Entire time f+g years,
4. (C) 1. ¥ or 125
a+b=odd.youcanuse a=2and b=1,0r With the same height, The ratio of the areas
a=1land b=2.
: . . 20 5
(C) is always true. is equal to the ratio of the lengths. E = "
5. (B)
The midpoint of 4 and 12. 10
_(Z2+4 141) oy a0 :0’11,1’1
B=|———|=(1). b 1,234 1234
Since the radius of the circle is 3, the 2 72 3 3 3
coordinates of point P is (1,4). 1"R’3° A 125874
Therefore, there are 10 distinct values.
6. (E)
The sum of the first three tests is 3p and the 13. 512 or .513

sum of last two tests is 2q.

Ip+2g

The entire average = 5

There are iwo possible cases.
(R,B)or (B,R).




5

8

For (R,B) = —x—

13

for (B,R) = — 8

12

5

13 12

10

39

_10 . Therefore,

39

14~12 0. b-12
1-0 a-0 -’

Thus b =2a+12--(2). From (1) and (2),
a=28and b=28. Therefore, a+ b =36,

The slope of g is

_IE+10 20
39 39 39

=512 or 513.

14, 2,3, 0r4
[t0-3x| <5 => [3x~10] < 5. It follows that

-5<3x-10<5 = 5<3x<I5 :>—§~<x<5.

Therefore, there are three integers, 2, 3, and 4.

15. % or 0.25

16. % or 222

18.

4
If the value of y is the minimum, the valuc of

x will be the maximum. The minimum of
yis 3, then
P49 ' <16 =>—4<x<4,

Therefore, the greatest possible value of xis
4. Or, you can solve it geometrically as
follows.

[
N

In the figure above, the greatest possible
value of x in the shaded region is 4,

4 oL Mo ¢ TEST 2 SECTION 7
~-nee
: . L. (D
In the figure above, ABPQ and ABAC are 7k ) )

) BR _BP I 2Jk =even = vk iseven. = kis even.
similar, o = =2 =2 k is odd. =k id odd.
If BP =k, then BM =3k, Therefore, 2k is always even.

Therefore, RM =2k . The area of Or, use numbers. Let kbe 4 or 9.
1 Only (D) is always cven.
AABC = E(.’Sx 3k)=4.5k and the area of
{ 2. (O
APQM =—(1x2k) =k . a, 336 X 12 }6{
6 12°3°
APOM k2
Therefore, == )
AABC A5k 9 Therefore, four different values are there
3. D
17. 36 Approximately, the y-intercept is 60, and the
Point(a,b) lies on both of the two lines. 28— 60
13-7 b slope is = -4, Therefore,
T f = e
he slope of f is 31 =3 ] . Thus, =4z 460,

b=3a+4-(1).




4. B B
. Ixh
The areas are equal. z¢* = TN = h=2nt. p
5, (D) A0 ¥
y = kx*is direct variation. The function 23N 0243
passcs through the origin. Tn the figure above,
P ACPQ ~ACMN ~ACBA . 1t follows that the
' B 16 c ratio of the length is 1:2:3. AC =643 . Thus,
8 8 the area of ACMN = %(4\6 X 4) = 8\5 and
A& ) t
EEE the area of ACPQ = 5(2\/5 x 2) =243,
In the figure, Perimeter is 56. Therefore, 83 - 23=643 .
Or, you can use the ratio of the areas.
7. (D) 1:4:9=k,4k,%
a+b\ a-bY -0 (1) 2} 1 the arca of shaded region=>3k.
x—yNx+y :x2~y2 BTy EYRER The area of AABC is
2at 20 2a’-b) _2(1)_2 %(6x6\/§)=}8\/§=9k . Thus k=243 .
332 -3y° -y 3\3) 9
Y =) Therefore, 3k = 63 .
8. (B)
3| e 4. (©)
&F
E ~1w-+l=!ﬂ=t :>M=t.Thereforc,
2 - p 9 pq w
‘Home Time(hour) v pg=iw.
9. (©) 15. (D)
The volume of the water is eql;al. Thus, 4A13=42—13=3and 5A23=5%—23=2.
mrh=2rmh H = H =22 h_r Therefore,
2zrh 2 PAP =879 =8 -9=064-9=55.
10. (D) 16. (A)
22|=2_2202220+2m=x+220 :>x=220‘ B
5
11. (A) 3
Therc are 5 women out of 90 employees.
5 1 g
BT A C
90 18 4
12. (B) The area of AABC is % =6 . The area of
5 45 +5 +5° +5 =5-5 =5 Therefore, 1
x=4 AABC in terms of r= 5(5r+4r+3r)=6r.
13. (©) Therefore, 6r =6 = r=1.




£,
L

» 4-r
Because the lengths of tangent to a circle is
equal,
BC=0CG-r)+(4-r)=5.
Therefore, r=1.

END
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